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① la)
Let A

,
B
,
C be 2×2 matrices .

Then A- ( Ibd ) , 13=1511 ,
C- (II )

where a,b,c,d,e,f,g,h ,
i ,j , k ,
l are real

numbers .

We have that
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Also
,

BAHA
-

- legttlabltfi If :&)
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Comparing these

two results we

see that (Btc ) A -

- BATCA .



① (b)
Let A be a 2×2 matrix

and

I be the 2×2 identity matrix .

Then A- = ( Ibd ) where a ,b , c. DEIR

and I = ( j Y ) .

We have that
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① lol
Let A be a 2×2 matrix and

0 be the 2×2 zero matrix ,

Then
,

A -- ( Ibd ) where a. b. c.
DEIR

and 0=188 ) .

Then ,
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① (d)

Let A be a 2×2 matrix

and 2,13 be real numbers .

Then
,
A - ( Ibd ) where a. bad are

real numbers .

So ,

Gtp) A- ( atp)
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① let
Let A

,
B
,
C be 2×2 matrices .

Then A- ( Ibd ) , 13=151 ) ,
C- (IE )

where a,b,c , d,e,f,g,h ,
i , j , k ,
l are real

numbers .

Then ,
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" di IL ) conf; ffl )
= (

a. (eitfkltblgithklalejt.tl/tblgjthl1cleitfhltd(githk14ejtfl)tdlgjt-he))



= (
aeitafktbgitbhk aejtafltbgjtbhl

ceitcfktdgitdhk cejtcfltdgjtdhl)
Also ,

IABK-C.de/legtnDlIE/.y::::::::m::l=flaetbgIitCaftbh)k(aetbgljtlaftbhllketdg.it/cftdh)k(cetdgljt(cftdh1l )
= (
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By comparing the
above two

results

we see that A- ( Bc ) = ( AB ) C .



① (f)

Let It
and B be 2×2 matrices .

Then A- ( Ibd ) and B - ( f f )

where a,b , c ,d,e , -1,9 , h are
real numbers .

Then ,
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② (a) Let A
,
B , C, D be nxn matrices .

Then
, Fjmclass:XCYtZl=XYtX-#

( At B) ( Ct D) = ( AtB) Ct (At B) D

= Act BC t A
Dt BD

P

Fromclass.io/XtY/Z=XZtYzL
-

②(b) Let A ,
B
,GD be nxn matrices .

Then, FIomclass:(xtYlZ=XZtYZ#
( At Btc) DE ( At B) Dt CD

TT E
= A Dt BD

t CD

qFromdass:(xtYlZ=XZtY2



②61 Let A , B , C be nxn matrices .

Then fromdass:(xtHt=xttY#
( At Btc )T= ( At B)Tt CT

T Y
= Att BT t Ct

PFromclass:(xtYY=XttY


